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Seat No.:

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - I/II + EXAMINATION — SUMMER- 2017

Subject Code: 320001 Date: 08- 06-
Subject Name: Mathematics |1

Time: 10:30 AM TO 01:00 PM

Instructions:
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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Each question carry equal marks (14 marks)

Do as directed (Each question has equal marks).

Prove the points A(4,2),B (7,5) and C (9,7) are collinear.

Thelines 3x +y —7 =0and 6x + ky + 15 = 0 are parallel then find
the value of k .

Find the equation of circle with centre (0,0) and radius 3 unit.

If f(x) = log x ,then prove that f(x - y) = f(x) + f(¥)

If y = sin(3x + 4), find %

Ify=x° —cosx +4 ,find %.

Evaluate [(e* — 3x%) dx
YUl UHIA 531 (ERS Uslotl JYQL UHLaL B).
A 5A ¥ QLU A®4,2), B(7,5) 3l C (9,7) Wdu D,
Bl YU 3x+y—7=0 U 6x+ky+15=0 AMid2 A2 A
k oll ldd s .
adgell 2llse AN, Foll 30w (0,0) uA Breuell dctls 3 Asu
8,
R f(x) = logx A, A URA A F(x-y) = F() + fO)
y=sinBx+4) 2 L And.

y=x% —cosx +4 M2 3—1’ And.

ROl f (e* — 3x%) dx

Fill in the Blanks .

If A(3,4) and B (0,0) then 4B =
The slope of straight line 2x +y —8 =0 is
Radius of circle x? + y2 = 16 is =

I 4h —1

e h

d

in~1
—sin"tx =
dx

sec?x dx =
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Find area of triangle having vertices (2,3),(4,5) and (—3,3)
Evaluate lim,._,q (1 + Z?x)E

As A5 Axsn Al Boll QRAGEA (2,3) ,4,5) a
(-3,3) 8.

Dl A - Ly (1+Z)
OR (el

A (2,0) and B (—2 ,0) are given points .A veriable point P (x,y)
moves in such a way that PA% + PB? = 8. Find the equation of

locus of point P.
x%+x-2
x+2

Evaluate lim,,_,

A 2,0 A B(—2,0) wdcll @1 8.0 UAd (g P (xy)
Adl A 2@ 2D 3 pa2+PB? =8. [QAf Poll @Eua oll
SEHEEENN

it A= lim,,_, 2

x+2
Find the Equation of line which passes through the point (4,3) and

perpendicular to the line 3x — 4y + 5= 0.
Find derivative of x?% , using first principal of differentiation.

@¢ (4,3) Higll Uk acll ol YR 3x -4y +5=0 o dul
Yrulell w{ls2g k.

Rscototl Yyur Rteidal Guaol 538 x? of @slAd Aadl

Find the equation of the tangent and normal to the circle
x2 +y?2 —4x + 6y — 13 = 0 at point (1,2).
Evaluate f(sinx + cosx) e* dx
adel x% +y2 - 4x+ 6y — 13 = 0oL ([AE (1,2). 24010 2uls

ol wAcuat uHlse And,
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ROl [(sinx + cosx) e* dx
OR (v2cl)

If A(2,3),B (4,7) and C (5, —2) are the vertices of 4 ABC find the
equation of median AD through vertex A.

Find the derivative of vix , using first principal of differntiation.

A(2,3),B (4,7) Ul C (5,~2)4 ABC oll QAREAD & 4 Hiell iz
Ul e AD of wls2eL AnAL

[Asctototl Yo Rteldad Gual 58 vx of Rs@d Andl

Find equation of circle having centre (1,1) and passing through
the point (—2,4) .
3x2-6

Evaluate f PP dx

(@g (~2,4) igll URR AL A Fos (1,]1) bRAAAL Rl ol
sz .
nnel f—332;6-dx

x3—-6x+5

If x=a(@+sinf) and y = a(l — cos @) then prove that
ay _ 4

d_x = fan 2

dy

xsiny+ysinx =5, then find ix

% x = a(f+sing) andy = a(l —cos ) dl W 53 ¥

d 0
2 = tanZ.
dx 2

d
xsiny + ysinx =5, H2 % nael

Find the Maxima and Minima of the function
y = 2x% = 3x% — 12x + 5.
If y =log(sinx) +tanx , find % .

QB y=2x*~3x2 —12x +5 ofl 4olH WA oot
i AaA.

d
y = log(sinx) +tanx HI2 % A,
OR (A¥Ua)

If y=2e3 4 3e™% then, prove that y, — y; — 6y = 0.

; , d
if y = sinx™"* then , find Ey
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RN y=2e3+3e2* QA 5A ¥ y, -y, —6y=0.

y=sinx®* 4@ 2 Aad
If displacement of a moving particle is given by
s = t3 — 3t% + 4t + 3, find the velocity and acceleration at

t=2.
Differentiate sin™' x, with respect to cos™* x.

Ws QA dllolQuas =3 -3t2+4t+3 B ¢t =2 WA
@Ea Aot U AL AL,
sin"lxoll coslx  ofl AAHL [QAsctat 53,

Evaluate [xlogx dx.
Evaluate folﬁdx

A [ xlogx dx
AOAl folidx

x+1

Find the area of circle x% + y? = a?
cosx—sinx
cosx+sinx

dsclotoll Heedl adal x2 +y2 =a? of asn AaAl.
a'an fcosx—sinxdx

cosx+sinx

Evaluate |

OR (Aucll)
th cotx
0 tanx +cotx

Evaluate

Evaluate [ e"*-cosx dx

T
A fF gy

tan x +cotx

Al [esi"*.cosx dx

Find the area of region bounded by the parabola y? = 4ax and

x? = 4ay.

2
Evaluate f

1+x2dx

URAAA y2 = dax WA x2 = 4ay. AR ARAAcU Aolof AASN

ENRN
2

X
And f1+x2dx

o ok sk Rk kR K
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using method of integration
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